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1. 54 students are standing in 6 rows. How many students are there in each row?
2. The product of two numbers equal to 102.If one number is equal to 6 find the other?
3. 282 books are distributed equally to 7 classes ,then how many  each class got books and how many left.
4. Annual salary of Mukesh is Rs 14400. What is his monthly salary?
5. How many apples are left if 26 apples are distributed equally into 6 students?
6. 8 classes has400 students.how many students will be in each class?
7. Solve: 574 ÷ 6 =
8. Solve: 974 ÷ 3 =
9. Solve: 4315 ÷ 5 =
10. Complete the following: (a) 67 ÷ 67 = ___  (b) 0 ÷ 43 =___
11. Divide: 2870 ÷ 7 =
12. Divide: 1515 ÷ 5 =
13. Divide: 8109 ÷ 9 =
14. Divide: 4866 ÷ 6 =
15. Divide: 2500 ÷ 25 =
16. Divide: 756 ÷ 15 =
17. Divide: 375 ÷ 5 =
18. Divide: 133÷ 19 =
19. Divide: 891 ÷ 11 =
